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Answer the Questions from any one Option.

OPTION-A
. { Fundamental of Financial Management)

Paper : COM-RE-5056

 OPTION-B
( Indirect. Tax 7L¢iws )
Paper : COM-RE-5066
Full Marks : 80
Time : Three hours

The figures in the margin indicate
Jull marks for the questions. '

Answer either in English or in Assamese.
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1. Answer the following as directed -

(any ten) ‘ 1x10=10
TR OoTS TWRIPTER & 91 8 (Rizezat w2y

(a) Shareholders wealth in a firm is

represented by :

eff ot BT S LI TH0T IHI 8

(i) the number of people employed in

a firm
Afowive Hrifere Jfes s
(ii) - the book value of the firm’s assets

oo i e Jom

(i) the amount of salary paid t_o i
employees

TR FHRG e 51 wawzE AR

() the market price per share of 2
firm’s common stock '

ST A=l T @ifs e < 0
(Choose the correct aiternative)

(%% [Fsicor s ©lersdl)
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(b) NPV stands for:
NPV (I 7519 ¢ ;
(i) net profitability value
PO OIS ET

(i) net present value

UPS TG T
- (iii) net purchase value
23S T T
(iv) None of the above
8o[9q «bI8
(Choose the correct alternative)
(um [ewcol A Tfaesn)
(c) : Capital budgeting deals with : :
: IELNL SO S SO 8
(i) cash management
o ARG

(i) management of working capital
FF] Jeig ARG
(iij) managing fixed assets
A i sAfpiEl
(iv) None of the above
ST Gbie T2T
(Choose the correct alternative)

(wm [Reac! 5 Sfed)
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(d) ‘Cost of preference share is:

SHIfFFILES X m 3
(i) treated for tax
(ii) not treated for tax
799 IR Rt 91 727
“(iii) only. occasionally treated for tax
ORI T1 @ Bwl 91 =
" (iv) None of the above
@oFT OIS T
(Cheose the correct alternative)
(®% fapse A Sleveay)

(e} Internal rate of return is the discount
rate, at which

wmﬁqwmwmm T
i) NPV >0

(i) - NPV < O
i) NPV =0
(w) None of the elbove
@of3T «Bls T

(Choose the correct alternative )‘

(% [Pseor Ao Tfeyed)

4 (Sem-~35/CBCS) COM RE 5/RE 6/G 4

0 | Dividend yield is eomputed as:
. TRt Totfei feRre maz“b‘tﬁzvnm ﬁcﬁlw
m -3

. () dividend per share divided by the
- market price per share '

wwﬁm\ﬁﬁwwaﬁww-

7 Koo

(ii) dividend per share divided by face
value per share - .

o 21fs ereees Ui A e TR

(face value) =il ﬁ’T@tW |
(iij) total profit divided by EPS
I @ EPS 39 Reoiew

(w) total profit divided. by number of
shares outstanding

P oies SRR () SEHivfE

| WYR TR Reew

(Choose the correct qltemativé )

 (w Rl A Clerean) |

4 (Sem-5/CBCS) COM RE 5/RE 6/G | 5
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T - I—
. (g) ACapltallsation of profit process
involves issuing . (i) The overall cost of cap1ta1 is' also’
G ReiTisay ot —— R e oS I known as:
(i) bond dividend STsief SRR I S B A 2T 8
o TG I - _ - '
| ' . . (i) -cash dividend ' - () marginal cost of capital
- - m ek TR AT A
(iij} stock d1v1d¢nd ‘ B : _ :
S TN - (i) variable cost of capital
(iv) property dividend ' . T SR \o‘ﬂ‘ﬁiiﬁ.'
, (Choose the correct alternatzve) iii) weighted cost of capital
' : (o Rewcol A6 Sfeea) | | :
. ¥ Y SIS T2
M (h) Stable dividend means: R B kS hS _
i Ay FTon W e 8 : 4 " (iv) specific cost of capital
| (i) constant dividend per share ‘ : . J
|  offs e R e R T W -
| i) c onstant dividendf payout ratio ‘ ( Choose the correct alternative)
oS SN A TS o S (w& Reseor s Sferedr)
(i) Both (i) and (ij) ' : S o S
L () SR (i) TG - () When ____ is greater than zero, the
| . (iv) None of the above - _ project be accepted } L
| ' Qo] oIS q37 . S (Fill in the blank)
| (Choose the correct alternative T el —— %rels TR T, ATH0IT A
| (o5 Rewe A6 Sed) T =t | (T T AT )
4{8em-5/CBCS) COMRES/RE6/G 6 ' ‘ .
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@

(m)

of cap1ta1 is affected by

Accordmg to traditional approach cost

(lel in the blank)
g

ing donot involve any
Retained earhing dofer o i)

w%‘?ﬂwm GoS A |
zrl% (T FA 779 )

stment demsmn is a part of
g:c’:?swn (Fill in the blank)

| ﬁmﬁﬁw e @B S|

()

(T FA 23 ).

A finance rnanager is accountable for.

ﬂwﬁ@ﬂﬁﬁm—awqmﬁm :

(l ) arnlng Capltal assets of the »

company

JELA TG Tolicia
(ii) effective management of a fund

 Calciealdl gore ARbBER!

- (it arrangement of financial

resources

e TME I

(iv) proper utlhzauon of fund
' offem AT R
(Choose the correct alternative )

(o5 Remest A Sea)

4 (Sem-5/CBCS) COM RE 5/RE 6/G 8

. (o) Write whether-the following statements

are true or false. .
. oee T gt o mwwﬁ‘m

i) The profitability 1ndex or benefit-
- cost ratio is the relation between
the present value of future net
~cash flow and the 1n1tlal cash
outlay. ,
Eﬁiﬂc O AN AF© TA9 SO WW
AT o RIRGR TR ga e
e P (Frei’) S SFAS
(Rfo=m) o
(i) The net working capital is the
excess of current’ assets over
current liabilities.

oS | T 5o T T sfore (AN
8oRfR BT Tsifer o1 |

* (i) When the company pay dividend
in-the form of bond, it is called
property d1v1dend "

@R @ foa IBT T SToic
e, Cofoxt o1 7~oifS Aot Mea |

(iv) When profitability index exceeds
' one, the proposal is rejected.

. afem profitability index g™
89iTS =W, cofem WWWWI

4 (Sem~ aICBCS] COM RE 5/RE GIG 9 - Contd.



in about SO words each : 2x5=10 5'
s Rt +fipt 2P 2ATTPCT A @oB! N *1Y
oote Tt %Pn

State " the .dvisor"y fun<_:tibns . of

(@)

(b) .

(c)

d .

2

'Answer any five of the following questions

financial management.

RFam AR TATHRET® I %@N 11
State the meaning of EPS.

EPS a wef TrEd |

How is average collectlon perlod
computed ?

mwwmﬂwww’

What is the meamng of 1nternal rate of

_return - ?

quwwiﬁw

What is pay-back penod ?.

R ﬁﬁmﬁhwﬁv

State the use of credlt policy in the

context of Workmg capital.

IR TR WSS I QAN ?ﬁ
- R TEw =l :

. (m-sfcsw) COMRESRES/G 10

' (g) What is stock dividend ?
T sTepid e

(h) State - the - objectives of wealth
 maximisation. - '

Fow TGP Sl S T
(i) What is trading on equity ?
* IR e

() What is receivables rria.nagement ?
ey AR 2

3. Answer any four questions ef the
followmg in about 150 words each :
5x4=20
o] ﬁmmrwﬁb’rma SR W 150 51

(@) Why wealth maximisation is more
viable goal of finance function ?
Explain.

'WWWT%@!IW%?IW@W
W'@"WWI

4 [Sem 5/CBCS) COM RE 5/RE 6/G 11 ' Contd.




. (b)

(©

(@)

(e)

Explain the factors determining the
capital structure.

iﬂﬁﬂ%ﬁﬁmﬂﬂ@%mm =)

Mention the different types of financial -

decisions and examine thelr mutual
relat10nsh1p

GRS ATRE 795 ﬂ?ﬁmsmaﬁn

State‘ the manner of computation of
the cost of equity and debt capital.
T (3P W A ‘Jﬁ'*m' I7 Feffaer
T Trerd 4

Distinguish between financial 1everage
and operatmg leverage

e e Wi wrr@fﬁaﬁ@rc%m

AT fera

State - the circumstances which .
“warrants issue of bonus shares

ﬁsﬁﬂﬁﬁaﬁﬁ mwwﬂ—ﬁﬁrw
S Y S [ |

4 (Sem-5/CBCS) COM RE 5/RE 6/G 12 .

(g9 What are the adverse effects of

()

'excessive working capital in a firm?

W@WW@WWWW
oo e |

Ganesh Ltd. expects itA'sA cost of goods
sold for the year 2017-18 to be
Rs. 500 lakhs. The expected operating

~ _cycle is 90 days. It wants to keep a

.minimum cash balance of Rs. 1.5

lakhs. What is the expected working
capital requirement? Assume a year
consists of 360 days.

szl RIRCOTE 2017-18 w9 ) Refla

9l @ W TA Rs. 500 @I SO

SRR 5 25 90 fiF | Rs. 1.5 @Y T
(odTT ARY Red REE ww )
R =2 4@l 76T @Bl T 360 Tl

4 {Sem~5/CBCS) COM RE 5/RE 6/G 13 Contd.



4. Answer any foui' of the following' questionsb

in about 600 words each : 10x4=40

wﬁmﬁvﬁfrmmmeooﬁm'

WP@GWW°

(a) Discuss the scope and objectives of
financial management.

RO ARG AR ST TR 2 1 |

(b) Give a critical analysis of net present
. value (NPV) vs. internal rate of return
- (IRR). '

Iptémal rate of return (IRR) I net
present value (NPV) I Wiore o3

ST [eage )
(c) -Discuss the modern method of capital
budgeting.

B CEE R R R O —
(d) Identify and discuss the . factors

affecting a firm’s dividend and
- retention of earning policy.

9B} ST TSR W WY 4l T oI

kol

- 4m-5/CBCS COMRES/RE6/6 14

Wmﬁsﬁmmmw‘ |

(e)

Discuss any -two theories of capita;l

- structure.
T 5]‘{‘7157@ ﬁZWZcW ﬁfﬂ@ aq’::n‘ A

What is mventory management ?
Explain the various tools . and
techniques = used for inventory
management. 2+8=10

ﬂ@rwﬂmﬁwwwﬂww

| R e i GERTRR 0 W

@

Discuss the forecasting techniques of ‘
'working capital requlrement of a
firm.

- aﬁwmmﬁgﬁw

&

meﬁmqwm

. DA 9 |

Elaborate the Modigliani and M1ller

hypothesis of dividend decisions.
‘Examine its validity.

- el ReeR Fraiss (Fa® Modigliani

)

- OR Miller 4917 RET SCEABA F40 | 309

BT AT R[esEe T

What do you urderstand by cash .
management ? How can it be

‘undertaken ? - 2+8=10
EULRIRE ] gﬁzﬁ & e amas @rca?,as
B S e O BT |

4 (Sem-5/CBCS) COM RE S/RE 6/G 15



0

A company is considering - to purchase

one of the following two computers, the
details of which are given below : .
G <5iZ WB! I-ITBRT TSI 2/ Bl
| FfiTBr i Frarg =i | Ff=IToR o
. Rzwdl oo faml 2 s
Year Cash inflow (in. Rs.). Discount factor @ 10%
Computer A | Computer B ,
1st .| 20,000 22,000 ~0.909
2nd 24,000 40,000 o 0.826
3id | 26,000 8000 | 051
4th | 18,000 20,000 0683
5th | 12,000. | 10,000 0.621

Cost of the computer A and computer
B are Rs. 55,000 each.

FPITHIT A W% FFPBHR B DA o
T T Rs,” 55,0001

Calculate net. present value and
suggest which one should be

- purchased by the management of the

company.

@Ww%ﬂﬁamwarmwﬁw

9 W (G IO @ARNIOIR [l
e =, s SisResial |

4 (Sem-5/CBCS) COM RES/RE 6/ 16

1.

() GSTINis a

(i) GST removes

OPTION-B
(Indirect Tax Laws)
'Pap'er : COM-RE-5066

Answer any ten questions as directed:
1x10=10

ﬁzvi“f@a:ﬂﬁ ﬁmmwwm

digit alphanumeric
-number. (Fill in the blank with
appropriate word/words)

GSTIN = @6t TR IR aﬁéu
(Corge 3T Nl 2 279 F91)

effect of tax. (Fill in
the blank with appropriate word/words)

GST-Q TR —— oo WIFE! ,
 (Corye 2 A H2 o7t I9)

(zu) The burden of GST is borne by State
- Government. (State whether the -
statement is true or false)

GST= @IS I HIFIE I FR | |
(Cfeehr w7 & wo7 O =) -

4 {Sem-5/CBCS) COM RE 5/RE 6/G 17



(iv)

(v)

- (vi)

(vii)

Customs duty is a form of tax.
(Fill in the blank with appropriate
, word/words)

A &% T G @R — |
(ST = A SR o =)
GST was introduced in India'with effect

from 1% April, 2017. - (State whether
the statement is true or false)

wlaede GST 2017 1 AR afee wiffey

ot et 4 & | -
(Cth % @ woT Tars P

GST is a ____ based tax. (Fill in the

blank with appropriate word/words)

 GST 7A o — RRw T

. @meﬁﬁww>

Customs duty is levied by State

Government. (State whether the
statement is true or false).

it o ANy SRR A G T @

(@WGEWWEWW)IV

.4 (Sem~5/CBCS) COM RE 5/RE 6/G 18

(viii) _._is the first country to implement
GST in the year 1954. (Fill in the blank

~ with appropriate word/words)
—— txrm @A ot e 1954 599 GST

S SRS | (Bo13e =T M IR 47 7))

(ix) The alphabet T’ in IGST indicates___.
.. (Fill in the blank with appropriate

word/words) . ' ‘ ,
IGST er® 4 T INEIE . —— PRl
(Boge = i IR 739 79)

(x) GST is a regressive tax system. (State
whether the statement is true or false)

. GST T4 <51 PR I G|
S (St o7 7 wow. Sy F)
(¢) GSTisa multi-point tax systém. (State Q
. whether the statement is true or false)
GST-Xe B! B T 7|
| ' (B o7 @ woT OEd FN)
(xii) Assam VAT Act, 2003 came into effect

from 1% day of April, 2005. (State
whether the statement is true or false)

P VAT iz, 2003 =il «f@e, 2005
SR st PR W
| (Bfes! o7 1 TOT T )

+(5em-5/CBCY COMRES/RE6/G 19~ - Contd.




(xiii) VAT is a type of___tax. (Fill in the

blank with appropriate word/words)
VAT T &5 @R F|

| (BT T A 5T o5 )

(xiv) Central excise duty is levied and

collected by____. (Fill in the blank with

. appropriate word/words) .

A SRR % —— T S
T T W | (TAE 7T e 312 7979 77

(xy) Under the Customs Act, 1962,
‘prohibited goods’ cannot be exported.
(State whether the statement is true or faise)

T o= AT, 1962-F 9T ‘Riiw 2’ 391
PRI AR T qA

- (Bfehr om A T B )

- (xvi) The liability to pay central excise duty

vests on the ___ of the goods. (Fill in
the blank with appropriate word/words)

U IRIN 9F SIWE fmy wiRy ws
——F @9{© WI® I (3|
(Co13@ 29T T 3% o739 =)

-

4 (Sem-5/CBCS} COMRES/RE6/G - 20

_ (xvii)Registration under the GST Act 'is~
___ based. (Fill in the blank with
' appropriate word/words).

GST Wiz TfTS AGE Te fofer |
(Borge =T T I 97T )
(xviii)A person registered under composition
. scheme cannot claim input tax credit.
(State whether -the statement

is tiue or false).

Composition scheme-3 SRS AGTS To
I input tax credit 7N PR FRIE|
' . (Gt o 7 oeT Oy )

2. Answer- any five quéstiohs : 2x5=10
i) What is indirect tax?
A bl e o 02
(i) What is VAT? -

VAT Wit & =me

4 (Sem-5/CBCS) COM RES/REB/G - 21 " Contd.




.(m)

(iv)

Briefly explain the meaning of ‘excisable
goods :

.mea@’awfs:f@wmn |

Explam the mea.nmg of ‘factory as per
the pI'OVISlOl’lS of the Central Excise Act,

@@zwﬁﬁwﬁ 1944aaiath—“¢mm

g o g A

(v)

(vi)

AN o W 1962 W@T ‘Terntonal

(vii)

' Mention any two Ob_]CCtIVCS of levymg
customs. duty

W@%W@MW ﬁmmmmq
ES|

Explain the meaning of ‘“Territorial
Waters’ under the Customs Act, 1962 ?

Waters’-? o Yt =4 |
Explain the meaning of GST.

GST- W 1 <541

. 4 (Sem-5/CBCS) COMRE S/RE6/G =~ 22

- (viii) Menﬁon any two benefits of dual GST.
W GST A 751 e T
(ix) Exple;in the meaning of inﬁut tax credit..
95 i (fesS WQf?]T?UTWI

(x) What is inter-state supply under GST ?

GsT= w%wmf@w CIoAA mmﬁs?w
3. Answer any four questions: 5><4 20
(i) Bﬁeﬂy expiai-n dﬁy “five ,advantages of
VAT.
VAT Ripien =it Ak bqizﬁamn =

. (i) Write a short note on valuation of
excisable goods. -

ww@mmém TITA-T 89T BT 5
- (oIt il | |

4 (Sem-5/CBCS) COMRES/RE6/G 23 - . Contd.




(iiij Explain the meamng of ‘Baggage’ as
per the prowsmns of the Customs Act,
1962.

S &F SN, 1962—32@17&@ Wﬁwamf

[y FAAL

(iv) What is composition scheme in GST ?

GST=S JHH® éompositidri ‘scheme I .

e

(v) - Briefly explain’ the conditions for

clalrmng input tax credit under GST.

' GST—?W@T@@W @%‘Gmﬁﬁmﬁm |

F‘Tﬁ{iss,{?as?mﬂnaﬁr|

(vi) Briefly explain the rate ‘s.tructufe of
GST. \

GST—a _ m-efﬁ. L2 W =1

(vii) Write a note on the constitution of GST
Council.

GST= mﬁtﬁ# QTS o} (it |

(viii) Write a note on the threshold limits for

" registration under GST.

GST—‘«'W?FM ﬂf@mm WW@W
<ol (il o1

Answer any foir questlons 10%4=40
ﬁmz-vr oIt e T ﬁmt

(i) Write a note on the taxability of alcohol
and petroleum products under VAT.

VATS 8o I/ TR (GO TS |
,mw @sige Bl (Bt o |

(ii) Describe the hlStOI'y of indirect taxes in
India. : '

WWWW?@@I

(iii) Explain the .procedure of registration
under the Ceritral Excise Act.

g@@awmwﬂ— T e R
G I |

4 (Sem-5/CBCS) COM RE 5/RE6/G 24
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(iv) Write a brief note on the history of
Central excise law in India.

(viii) Write a brief history on the introduction
' of goods and services tax ,in India.

SIS I % mmmﬁwﬁtw

<Gl 5 BrF ferdil
(ix) Explam the advantages of reglstratlon '
. (v) Briefly explam an_y_ ﬁve types of customs under GST. ,
duties. -
| ' | GST-T5fs ﬂf@?ﬂaw Www |
,ﬁwm.oﬁsawﬁmw_smwwu ’iﬁ

i . . o o ' ] (x) Briefly explain the various es of
(vi) Briefly explain the export procedure = ‘ assessment under GST. typ
under the Customs Act. 1962. : R

ot o8 witF, 19627 SHE TR s a g;;mﬁ%ﬁwwﬁwm

‘ WWWWI

(vii) (a) EXplain.the concept of dual GST
. Model. . S

s GST SfE= «I=ett g1 < |

(b)‘. Write a note on the commodities
which are kept outside the scope

of GST. S
GST-= RS AT ! TP 8ow©
961 (oI |

' 4 (Sem-5/CBCS) COM RE 5/RE 6/G. 27 4 2600
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